Easy to install

What's in the box

What's in the box

X2

K
|

\

'fz
\\o
\

(€Y)
x
N

i

X2
1

x4

QXZ ®x2 ©x2 ®x2
' & S
M8x40 @20x8.5x1.5 M8
@xZ GXZ ©x4
@) "(((((((((((((((((«(««(««((@ (e
M8x12 M8x55 ST4.8x16

) % P =
M6x10 13-14mm 4mm 5mm (Not included)
x4 R x4 x4 RN x4
fmm @ (mm @ (m &
Md4x14 M4x30 M5x14 M6x14
x4 x4 x4 x4
(o ) ([ { D
M6x30 M8x30 M8x50
[ M-I P& x8
5MM 15MM

3

[ © |\

= Step1

-

L\ /74

/  Step2

\

Easy to install

(Not included)

p

7

T

13-14MM

N

Easy to install

Do not tighten the screws
NEITRIRL
RIEEHTLIETW
Ziehen Sie die Schrauben nicht an
Ne pas serrer es vis
Non serrare le viti

No apriete los tornillos

IS,

4MM

1~3mm

Do not tighten the screws
TEITEBL
RIEFHTLIZEW
Ziehen Sie die Schrauben nicht an
Ne pas serrer es vis
Non serrare le viti

No apriete los tornillos

4MM

Tighten all screws
BERERLITER
ITRNTORYZEHHDHET
Serrer toutes les vis

Alle Schrauben festziehen
Serrare tutte le viti

\ Apriete todos los tornillos




Easy to install

Easy to install

Easy to install

4 4
Part 4 disassembly Composition de l'accessoire 4
L by Composizione dell'accessorio 4
C ) VAN v
IN="Y 4D TR . Desmontaje del componente 4
Zusammensetzung des Zubehors 4
TV
TV
i ) 0 — O M-|
§ [ [ ™ | - ; 5mm
Ml 17| ' =
ok I o8 N
> L ] j b — @ M-J
Ca. ,,,,, | v - y b 15mm
E A [ I A y [ I
!‘ o B M-I
i @ +
i i ; 5mm+15mm
The adjustable range of the distance from the bottom of the TV to the ground is marked on the part 4,
E so that you can choose the appropriate height. You can choose the height, make a mark on the ruler,
and then disassemble and install the part 4 to the back of the TV.
Sélectionnez les vis appropriées de M-A a M-G et fixez la partie 4a aux quatre trous de vis
M B4 AT T EMES R E R EN T ESEE, MEFEEReESE Select appropriate screws from M-A to M-G and install part #4a on the four screw holes on the back sit'ues a l'arriere du téleviseur.
i @] SRR EE, AR TR, AR AN B R ER BN, P4 of the TV. The back of the TV is flat, and the A1 installation method without gasket can be used; If the Méthode de montage A1 : sans rondelles
L) back is uneven, A2 installation method with washers (M-H to M-J) can be used, and thick washers E Si l'arriére de votre TV est plat, choisissez A1
can be superimposed according to the situation. Méthode de montage A2 : avec rondelles (M-H & M-J)
B LRIZERELSICN—VYTICTLED FiHH S ~ 0D B 7] RE A T ) oo S A
o )g éjgg %ﬁ%%b—;—ijé]gx—c /%702 *TLL;—EE[?J;T;J '::\Ff %}ggg&i T/gg!:%%_fy%—c s o 73 dem A N Sile dos de votre téléviseur n'est pas plat, choisissez A2, les rondelles peuvent étre
— K - [=PI=) REZ, 1A RES o IE a2 . . N
@ X2 @ X2 @x 4 il OPEL v TLEREI TEM-AEM-GEHESIENIRL, TR E RIS AL MRLIL b, B EEPRAEAT empilées en fonction de la situation
[REZASS A | IERENAIRES R SEA PR ERENRE (M-HEM-) AR, EREE RS R , - _ , . N
ENMER. Scegliere le viti appropriate da M-A a M-G e montare la parte 4a sui quattro fori per le viti
- Zubehér 4 ist mit dem einstellbaren Bereich des Abstands von der Unterseite des Fernsehers zum sul retro del televisore
I raj Boden gekennzeichnet, so dass Sie die richtige Hohe wahlen kénnen. Sie kdnnen die gewiinschte Hohe Metodo di tagei A 1 dell
§ wahlen, sie auf dem Lineal markieren und dann Zubehér 4 an der Riickseite des Fernsehers befestigen. M-A~M-GH\SBHI B R P HBA T /N—V4aZE T LEHBEOX PINUCED[IFTLIET V. TLE M S e.lo ? ldmr)tn lagglo N S(.entzta ron el. © Al
! i N EERFOBIBE Ty r—EEDBVBRDAI AAMEERL TR IV FLEBERFEST & ¢ l'retro det televisore € piatto, scegliere ,
1 L'accessoire 4 est marqué de la plage de réglage de la distance entre le bas du téléviseur et le sol afin M2 Ty o — B ESEO I SEA2E B LT S0 (Ty S v— 35S - kD B TER Metodo di montaggio A2: con rondelle (da M-H a M-J);
I i que vous puissiez choisir la bonne hauteur. Vous pouvez choisir la hauteur que vous souhaitez, la <EET) Se il retro del televisore non é piatto, scegliere A2, le rondelle possono essere impilate a
g ! W marquer sur la regle et ensuite fixer 'accessoire 4 a l'arriere du téléviseur. = ° seconda della situazione.
0| . . . . . . . .
b . L'accessorio 4 & contrassegnato dall'intervallo di regolazione della distanza tra il fondo del televisore e Wahlen Sie die e“ntsprechenden ?ChraF'be” in M-Abis M-G und befestigen Sie Teil 42 an den Escoja los tornillos apropiados en M-A a M-G y monte la parte 4a en los cuatro agujeros
0 | il pavimento, in modo da poter scegliere I'altezza giusta. E possibile scegliere I'altezza desiderata, vier Sc.h raubenl6chern auf der RUCkSEI'Fe des Fernsehers. para tornillos en la parte trasera del televisor.
o segnarla sul righello e quindi fissare I'accessorio 4 al retro del televisore. Befestigungsart A1: ohne Unterlegscheiben Método de montaje A1: sin arandelas,
| ] . . . o al Wenn die Riickseite lhres Fernsehers flach ist, wéhlen Sie A1 [ Si la parte trasera de su televisor es plana, elija A1
| ] o e i g phatotemorse il 111 ) .
marcarla en la regla y luego fijar el accesorio 4 en el reverso del televisor. kénnen je nach Situation gestapelt werden ’ ’ 3' la pz:\jr'te tdras:jeral de.:u te'lfewsor no es plana, elija A2, las arandelas se pueden apilar
ependiendo de la situacion
. &

Install part 4b according to the marking
RIEATIC R 2L 4b

BRI R /N—Y 4bZ BRI AFIF TLIEE LY,
Montieren Sie Teil 4b entsprechend der Markierung
Installez le 4b en suivant les indications

Installare il raccordo 4b secondo le indicazioni
Instalar el componente 4b segun las instrucciones

Easy to install

Easy to install

Easy to install

o

[&

o]

/\ WARNING

When the TV is adjusting the left and right angles, please do not touch the moving parts shown
in the figure to avoid pinching your hands.

YEBRMIEERTEGAEREE, B E s E e, UekF.

C TLEDNEROAEZREBLTVWR IR FERIEFLVELSICRICR ISR IC
A WVWTIE TV,

- Wenn der Fernseher den linken und rechten Winkel einstellt, berlihren Sie bitte nicht die in der
Abbildung gezeigten beweglichen Teile, um sich nicht die Hande einzuklemmen.

Lorsque le téléviseur ajuste les angles gauche et droit, veuillez ne pas toucher les pieces mobiles
illustrées sur la figure pour éviter de vous pincer les mains.

- Quando il televisore sta regolando gli angoli sinistro e destro, non toccare le parti mobili mostrate
nella figura per evitare di pizzicarsi le mani.

+ Cuando el televisor esté ajustando los angulos izquierdo y derecho, no toque las piezas moéviles que
se muestran en la figura para evitar pellizcarse las manos.

+20°






